How to calculate
your emissions
using excel
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How to calculate your emissions?

To quickly calculate your metric tons of CO2e Scope 1 and 2 emissions you can use calculations
spreadsheets such as GHG Protocol or our Flex Environmental Metrics Template. Let’s take a look at

how to use this file:
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Calculating Scope 1 emissions

In the Env Template tab input your direct energy usage data in the corresponding row (Natural Gas, Gasoline and Diesel in this
example) in the Month columns. In the Annual Total column, you will see the sum of the 12-month period you inputted.
Each row states which unit needs to be used (M3, Lt). Make sure you are using the units stated in the file, otherwise convert them

accordingly.

Categor Data to be reported

y &5 BEHENHE

Natural Gas (M3)
EES (m3)

LP Gas (Liters)

At a =
()

Gasoline [Liters)

A ()

Diesel (M3)

Hh (M3)

Ethanol {M?)
2. B (W)

Bl CafEo

Direct Emergy sources [SCOPE 1)

Biodiesel (Liters)
Ts%dh ()

Fuel data source

w
EEAER

Tupe of
Field

BE=E
- - |

[rumerical]

=]
[rumerical]
=]

[mumerical]

Bl
[rumerical]
=]
[mumerical]

BrF]

[mumerical]

BrF]

i H
1 1
T i
Hrwoices ZH |
! i
1 1

Last year Data
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Please provide vour inputs in M ; Please separate
decimalzs with dats ©. ® [Example: 10.00]
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Energy from fuels

Once you have input your monthly information, scroll to the right and input the % of the energy that comes from the
US or Canada to get the Energy calculations. Note that if it is zero, please enter 0 and don't leave blank.

ENERGY #E B
Please input below the % of your Results for :(C8.2a) Consumption of Energy source and unit
Annual Total Location in the COP questionnaire fljels that come from the US or purchased or E‘t::quire:_i__l EIEE_r,iCiW MWE " BEBREREER BN Results for _Ej:i?ﬁ‘gi%fpﬁm o Eneray source and unit
FEES COPEEDEME Canada — Mol B4 a8 B Mo IR SR DR purchased or acquired electricity MWh A58 5 3B 1 81

HFWALITREEEHAMEAN B Mwh MR T B BB S R B
Ak S A% LLns E MWh

Matural Gas [Mwh] Please enter the % on the left cell Natural Gas (Mwh)

Uik, W 54 5.94 XS (Mwh) e B TR A% RIS (MW

, Please enter the % on the left cell LP Gas [MWh]

0 000 0 0 0.00 LP Gas [MWh) e £ 8 TEAR 4 A 9% A T
i ' #ELMmS (H) Please enter the % on the left cell Gasoline (MWh) Sl (MW
4 r BEEMETETE A
: : : = Please enter the % on the left cell Diesel (Mwh)

e At Zum 39 201.71 Gasoline (MWwh] il (MWh) 1B 7= 0l AR A% S5 (MWh)

4 b - Please enter the % on the left cell Ethanol (Mwh)
: ! D I [Mwh . T ’

rooTE w 26 935 68 e oty BEENSTTHPBAY Z8 (MW
: 1 Eth | (MWh) Please enter the % on the left cell Biodiesel [MWh]

: : thano ErENBTHERDE A% Fih (Mwh)

0: 0.00: 0 . 0 0.00 iFEEMETE T EA
; ; Please review the Energy ZB (MwWh}

r section at the right side of
i 5 the table Biodiesel (MWh)
0 oo o o 0 0.00 PN (Mwh)
¢ Elnunicesa"
IE & - -
Er . BEEREANNEEERES Mon Renewable Electricity . . .
| | 369.17 (MWh) This message will appear if you

7 OI2261E7  387.140.00 TeTHE =] (Mwh) .

| | leave the cell in blank

r
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Calculating Scope 2 emissions

For the SCOPE 2 emissions calculations, in this case as we have 3 different emission factors for 3 different regions. First,
we go to the Electricity Factor Tab where you can select from the different regions available in the file or add @
custom factor, you just need to select the units in case you want to use a custom factor.

In the Top right corner, you will obtain the Weighted Electricity Factor that we will then input in the Env Template tab.

Location

Singapore, SG
Texas, USA

Shenzhen, CH

Total

Last year Data

Electricity
(kWh)

15,590
5,590

17,534
38,714

Electricity
Factor

0.4057

234.496
0.423

Units

kgCO2e/kWh

lbCO2e/MWh
TonCO2e/MWh

Confinent

AR

Americas

Weighted Electricity factor hIf{EB H %%

Counfry / Province /
State / Region (For US
see map on right) /
Provider / Agency

Counfry /
Administrafive
Region

USandPuertoRico ERCT (ERCOT All)

PRofChing PR Of China

Singapore Energy Market Autho

Weighted Electricity factor #8115 % [gCO2e/kWh]

476.90

Hecftricity

per region Lloe BNET
=71 (kWh)

55,900

175340

155,900

Hecfricity L Weighted
factor Unifs EI:f.=.~c;Tm’rv
factor : B acior
(mass CO2e / miENEHE
energy) [gCO2e/kWh]

7743100 IbCO2e / MWh  14.44%
L3
TonCO2e /
] 45.29% 258.30
N/A 0.5703 MWh
L3
N/A 0.4148 kgCOD2e / kWh 4027% 1467 84
L3
0.00%
r
0.00%
L3
NI

Input this number in the Env Template

tab in the Electricity factor row's
dropdown list h
T EER BN EE 2SARETTEAL
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Calculating Scope 2 emissions

Once we have our Weighted Electricity Factor, we input it in the Electricity Factor row in the Env Template tab. Note
that if you used the Electricity factor tab you can select from a dropdown list your weighted electricity factor

calculated.

You will also input your total monthly electricity usage data (in kWh) in the month columns, and you will get the annual
total in the right side.

Indirect sources [ SCOPE

Pleaze provide vour inputs in Kw'h ; Pleaze { ¥ 7 7 7 7 7 ;

Last year Data

Weighted
Location Electricity Factor Electricity (kWh)
(gCO2e/kWh)

155,900
370.33 55,900
175,340
387,140

T WHE 32,251.5?; 32,251.5?; 32,251.5?; 32,251.5?; 32,251.8?; 32,251.8?; 32,251.8?; 32,251.8.'-"; 32,251.5.'-"; 32,251.5?; 32,251.5?; 32,251.5?; 357.140.00

Electricity 877 [numerical] | Separate decimals with dotz <™ [Example: 10.00
(KWh) Br] ‘ .
BRI E = b & (9080 @ 10,00 .
Pleasze input the Factor in the units [g COZ2elKWh] ’
= The emission factors are coefficients For the amounts of
o~ o ‘
E|ECtrlClt‘_|I factor certain gases that are released when fuels are burned ¢
lﬂ{:{}zﬂ ! hWh} [numericall | and for when electricity iz generated. They donotwary 476.90
B hHEHEE [ gCO02e [ Er=] per month, only per uear .

kWh)

e ) 2400 CO2elK Whih :
H AR GRS SHeRnReTBRNAT . |
TARE R far s MEES{E :
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Renewable & Non-Renewable Energy

Below the Electricity factor row, you can disclose:
« Renewable electricity purchased (kWh)
« Electricity generated on-site from renewable sources (kWh) )

« Partfial PPA (kWh %) (note the percentage must be multiplied by the % of the electricity of the region this takes

place to disclose correctly )

= A EHAASTE s WEETE

r
Renewable Pleaze provide vaur inputs in K'wh ! ! ! ! ! ! ! ! ! ! ! i
ElEC’triCit}‘ prChﬂSEd [rumerizal] | Pleaze separate decimals with dats <. 7 [Example: 10, DD] i i i i i i i i i i i i
(KWh) =] W% I Khifn ! I:I.IIIIIIIIIi I:I.I:II:II:Ii I:I.IIIIIIIIIi I:I.IIIIIII:Ii I:I.IIIIIIIIIi I:I.IIIIIIIIIi I:I.I:II:II:Ii I:I.IIIIIIIIIi I:I.IIIIIIIIIi I:I.IIIIIIIIIi I:I.IIIIIIIIIi I:I.I:II:II:Ii Q.00
PEN B EE 2 W EE I (RlAD 10,00 ' ' ' ! ' ' ' ' ' ' ' i
& | Electrici enerated ’
=] on-site f::;l‘?‘l Pleaze provide vour inputs in K'wh : : : : : : : : : : : (CH.2alC )  seli- d
= [mumericall  |Pleasze separate decimals with dats =~ [Example: 10, I:IEI] : : : : : : : : : : : : ~£alonsumption of sell-generatednon
(] renewable sources ] % Kb : 3,000.00: 300000 300000 300000 300000 300000 300000 300000 300000 300000 2300000 300000 3600000 @ fuelrenewableenergy
= H H H H H H H H H H H H s TR R T E SRR RS
= | (kWh) W EE = ORI : 10.00) ; ; ; ; ; ] ; 5 5 5 - 5 - SREFIERLIRERTAER
¢ [ HEEE R , : : . : . : : , , , ,
EE_J Please enter the X of renew able energy of the partial :
Partial PPA (kWh %) Hotrsquied |25 T2l PP = s usdlh sudl b nthins 4E3% 4B 453x B4Ix B4 BG4I 362% 362 3EM 498 499 493K TR.ATLT
W E B SR : : : : : : : : : : :
On the right side you will find the results of your energy usages:
{C8.2a) Report your organization’s energy consumption totals (excluding feedstocks) in MWh. _
(C8.2a) FHRESWALMEEREREEE ( FEFSS ) - BUMWh, . .
Note that this number does not This message will
. . g . , .
Renewable energy include biodiesel, ph_aase ﬁII_ appear if you don’t fill
consumption (MWH) 53.97 cells R11 and U11 to include it
o 8 A up completely cells
e Please fill all fuel_data on Ué:UTT
consumption (MWH) 1,512.50 column R, and % in column U .
Aol Bk AR AE BER
Total energy consumption §II EP :IE E Hf ;E ﬁ }Ih ﬂ :IE T
(MWH) 1,566.47 JFEURNPIET %
mRHERE
9
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Calculating Scope 1 & 2 emissions

Once you have input your monthly information on the template:
« The file will auto-calculate the annual total emissions in Metric Ton CO2e
« On the right side you will find the CDP module where you need to input this data

WS- Eminninnan A S - L 08T

SCOPE 1 - COZ Emissions e e 2 ol oot 07 (C5.1) Gross gl Sope Temissi
c fr el Ly i r gy el = 15 o . ross globa cope | emissions
L'ﬂ%’;c é’%‘;ﬁ?&eli T s 2480 2480 2480 2480 2480 2480 2480 2480 2480 2480 2480 2480 297.603 |imetictonsCo2e)
S = AR DR L Gas- OO P - (CET SHESISHIR (LEI0ZNE
'8 [Z3 W CO2e] DR - OB e B -
& LTl P B - O il
E ]
?-:l—'f SCOPE 2 - CO2 Emissions [$5531| ghatw;re yaur n:-rg:anizati-.:-n'E araz
= c . . - [mimP=| COpe £ eMISsions Inmekrc bons
B Celevlitiee] s B 533 33 B3 B39 BM® B3P B BB® BB B B3l B 184627 |t "
= o e - = == 3 L . . L ! ! L L . . L ! . COze? .
| e E2Col il B = e s sl (63 SEfmsdssamsREs
8 [ CO2e] ACO7LE ¢
L]
u el . Ny - b el
CO2e Emissions SE T E OCOeE OO 4019 4079 4019 4019 4019 4019 4019 4013 4008 4009 4008 4019 482.231 e s B
S =)

SZcoHik &8
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Emissions allocation

Once we have calculated our Scope 1 and 2 emissions, we go to the Emissions allocation tab.
There on the left side you will find the emissions you calculated in the Env Template tab. You need to input your
Revenue from Flex and total in the Emissions allocation data table | and your will obtain the Emissions allocated to
Flex. This is the number you will input in the SC1.1 section of the CD gquestionnaire.

CDP SC 1.1 Emissions allocation To Flex

H #ri0)E: SC1.1 MFLEXS BRI =

Location in CDP
Queslionnaire

—

Data calculated from Env Template tab Emissions allocation data CDPO)ERHIE Notes ;T

SCOPE T - CO2 Emissions [Metric ton Revenue of products/services

CO2e] 297.96 purchased by Flex $ 500,000.00

TEE1-COHE & [ CO2e] Flex 1 3<A77= /R SRVE W/ &N

SCOPE 2 - CO2 Emissions [Metric ton Total revenue of products/services

CO2e] 14.34 produced $ 20,000,000.00

JEE2-COH R E [2AECO2e] &R M/ R ERI S
Please make sure to select "Hex, Ltd" on

Total CO?2 Emissi Allocated GHG Emissions [Metric Ton (SC1.1) Emissions in the dropdown list at the beginning of the

eeeniliiach 312.30|  |CO2e] 7.81|mefric tons of CO,e  [SC1.1. section ) \

= = Fi 4 BR R == ik HE I [2\RECO2e] HEBTE (LAMECO2e) | BERIRTESCI. =AM M iSIFR PR
“Flex, Ltd"

<« Electricity FactoreB 1 %%  [JEIESERERNLIENEITIN WgY-ESRES- '@l Target setting toolBARi=) ... () : |4
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GHG Emissions Target Tool

To guide you on how to set your GHG Emissions target, once you have input your monthly information on the Env
Template FIEE&ER tab, please go to the Target setting tool BIRIRETLER tab. At the top of the tab, you will find @

quick definition and units of each of the 2 types of targets.

Flex is asking you to set at least one GHG emissions reduction target, you can choose to set an Absolute target, an
Intensity target or both.

Electricity Factor BB H&#] Emissions AllocationPi o EC82 = S {&HER Target setting toolHimiZE L E
Y g g

ABSOLUTE: Total quantity of greenhouse gas emissions emitted Units example:  Tons CO,e reduced  JZ2 [ - FUMLEE ™ BUHEIRME Y

WYX EiN BES, SE — &l -
Types of targets: ESAHIEE =Rivry VI

HirEE:

. . . Tons CO.e W S B Ry B HE T i
INTENSITY: Compares the emissions to some unit of economic output U2 reduced g PRIV S L DLk

BE B RIS R Units example:  Reverue /product HALB R
s~ -
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Absolute target

An absolute target is a target that specifies the total quantity of greenhouse gas emissions emitted that a company is
set to reduce. On rows 5-11 you will input the information for your absolute target on column G, please note that the
fields that have an asterisk (*) on column C are mandatory information.

Mandatory questions are

marked with an asterisk ~
o e L

Question [E5E Type of answer

ol 37 =31

ABSOLUTE TARGET

11

Scope(s) of your target [Drop down list]

BHmicE [ Tz EEm]

Your answer

Exiol &

Scope 2 fal

Base Year [numerical]
EEE [#F]

The year you will take as a starting point to reduce your emissions .

TRENEARSENERNER  fEANLEEERNSEEN

Is your base year the same year you
reported in the "Env Tab” of this fle?  |MEENALEFA
R E EINEFE Y S Py

Covered emissions in base year
TEEFERFHINE

If you answered "Yes" in the previous row and filled the env template tab it will
autopopulate. Otherwisse please provide this information.
NMREEF—ITPOE' R HEFeniBiliEE £ » ©EEmMEE - N
BEHILER -

Target year [numerical]

B iR 7]

Year in which you aim to achieve it, the date must be higher than the current
year. ¥z E8 B inA BBV EL

Targeted reduction % from base year WUyl
S EEFTBILBRADR Tl

% of reduction (0-100)
B thFER [ A0-10080 F 9 bk, %R 2{u ] #41]

Target Status [rap down list]
B Imii7E [ F $i #E1m)

Select the option that applies from the dropdown list

BN T A THESRRDPHE

Location in the CDP gquestionnaire

CDPEE$MiI=E

(C4.1a) Provide details of your
absolute emissions target(s) and
progress made against those targets.

(C4.1a) RRERELZHNEMFHEBRE
FO&T 0 2 L B iREYHE mETIF 1S -
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Absolute target

Tupe of answer Your answer

1) First you will select from the dropdown list the IS GFES] o

scope of your target, please select either: Scope 1 Scopels) of your target [Drop down lisf]
3 EEl— S E— S El—Fn— == T Scope 2l
SBEE—, Scope 2 SBE—, or Scope 1 & 2 SBEE—#1—_. g e [ F 4 2E10]

Scope iz M—

Base Year [numerical]
e i [ F]

Scopelik 2 i ®M—5_

2) Next, please write the “Base Year E#ELE" of your target,
and in the next row from the dropdown list you will select

EC:F:%l of your target :DTWE %c%n list] Scope 2 SE either Yes 8 or No JG, depending if your Base Year is the

o same the same year of the information your reported in
Base Year [numerical] The 1::: e . g
SR 3] 2022 w: he Env Template JRER4EMR tab of this file.
Is your base year the same year you
reported in the "Env Tab" of this file?  |[WEENALEFA Yes iE . |f yOU select Yes, the information Will Ou’ropopulo’re from
SRS AR T what you disclosed, iff you select No, you Will have to input

| this
flex
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Absolute target

3) If you select Yes, in the previous row the information
will autopopulate in the "Covered emissions in base
yearfE B HEFEEENPENE" row with the emissionss data
you disclosed in the Env Template HEIEIR tab of the
file. If you select No, you will have to input fthis
information manually

Target year [numerical]

13

Is your base year the same year you
[Yes s / No X] Yes i
ERENE EEFNESF & TP Fnw

Covered emissions in base year .
L R B [Calculated] [ 8 ] 14.34

Is your base year the same year you

[Yes s& / No ] No 7

4
R E FENEFE VRN

Please input your
[numerical] [# ] covered
emissions here

_overed emissions in base year

TEEFESAHIME

4) In the "Target year B#rEE" row you will input the
year in which you plan to achieve your target

flex



Absolute target

5) Then you will input manually the percentage

you want to reduce your emissions in the '

Targeted

reduction % from base year SE#FIHLLB nE

W7 row

Please note that Flex is not asking you to set any

minimum percentage for your target.

Target Status

[Drop down list]
T hi £E 10

B RS

1

el

Location in the CDP questionnaire

CDPRIESH{IE

(C4.1a) Provide details of your 7)
absolute emissions target(s) and
progress made against those targets.

(C4.1a) RIEHETRIEIIHH B
FOE HMEEEREIHRIHE -

14

Underway Sele
IF TE#T M
lew 2= ¥

Underway 8T
Achieved 2= fE
Expired B 528
Fevized i

Feplaced B ® &

inumn_ericul]
]

Targeted reduction % from base year
SEEFRILBHAD%

50.00

6) In the "Target Status BRIRZ", please select from the

dropdown list the status that your target has.

Finally, all the information provided in the previous steps
must be answered on the specified section of the CDP
questionnaire as specified in column |

flex




Intensity target

An intensity target defines the emissions to be reduced by comparing the emissions to some unit of economic output
(E.g., revenue, sales, units produced, tons of product, etc.). On rows 13-27 you will input the information for your
intensity target on column G, please note that the fields that have an asterisk (*) on column C are mandatory

information.

15

INTENSITY TARGET & € B 1T

General info i

BASE YEAR 25 fE5F

orm base vear

Baze Year

T

[Drop down lList]
[ FhizEli]

[numerical]

=1

[mumenical]

1

2 of reduction [O-100]
B EEFrER[E A 0- 10808 k. |58 i -E ]

[Drop down List]
[ FhzE]

Select the option that applies from the dropdowven list
EM MR MIEZESRINPEHRE

[mumerical]

=1

The vear vou will take as a starting point to reduce vour ermissions .

FREMNEFARESSEERNSFS - fEaMEREEE TS ESFT

= vour base vear the =zame vear Lo
reported in the "Erne Tab" of this File?
okl e s o e SO o of =Y V0

[Yes 3E ! Mo 7]

Covered emiszionsz in base vear

TEEEFEECH TR

IF vou answered "v'es" in the previous row and Filled the eny termpl ate
tab it will autopopulate, Otherwizze pleaze provide thiz information.

AR IS — I TPOESE " HiESenviBiRIEIF » EEEDEE - &

m o« EREEEEE -

Intensity ketric

EEER

[text -open Field
1 i

Fleaze write the units used; it i usually units of COZefrevenue or

arnother unit of business activibu
EEELRCOKEIED

BuLzinness activity metric From wolr
base year [as stablished in the
denorninator of the “lntensity ketric”
rowy]

[numerical]

=]

Intens=ity figure in base vear

ZEFEEEE

Covered erniszions in reporting vear | Business activity metic in
reporting wear

FIEENESEENNEI BSFEENUEEINET

REPORTING YEAR &

Reporting rear
WEF

[numerical]

1]

= vour reporting vear the same vear
ol reported in the "Eree Tab" of this
File™

[Yes & ! Mo 3]

Emiz=ions in reporting wear

EREFESNENE

Fleaze input woLr
inten=ity figure
here

If vou answered "res" in the previous row and filled the eny ternpl ate
tab it will autopopulate. Otherwisse please provide this information.

1R EFER— I TPRIE B HEATEenBiREDF - EHEINEE - &

m - EEREEE -

Businness achivity metric from wolr
reporhing year [as stablished in the
denorminator of the “lntensity kBMetrc"
o)

[mumenical]

1

Intens=ity Figure ir repu:nrtir‘ng Liear

Covered erniszions in reporting vear | Business activity metic in
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Intensity targets — General info RiE

1) First you fill the general information of your target, the same way as it was explained on the Absolute

targets:
« Scope(s) of your target
 Target year
« Targeted reduction % from base year
 Target status

Note these are all mandatory fields that have an asterisk on column C

Scope(s) of your target [Drop down list]

HiseE [ FHizein]

Target year [numerical]
HwE 5 |

Targeted reduction % from base year [lyl= =1
SEEFIRILB AT % [#7]

General info 2iE

Target Status [Drop down list]
H IS [ T HzzEDn]

16

Scope 2@ _
2025
% of
50.00
87
Underway el
I TEIHAT s
o
Mew iﬁ'—r 3
Underway iE £ E7 '
Achieved 7 AE 2
4 Expired B 5% B
FRevized ¥t
Feplaced EE £
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Intensity target — Base Year Ef4E

2) After you fill the general information, you then
proceed to fill the information of the Base year:

First input the “Base Year B, for this example

we will define 2021

b) Similar as with the absolute target, you need to
select [Yes & / No 5] in the next row depending if
the information you disclosed in the Env Template
RIRIR tab of the file corresponds to the “Base
Year E#EEE" of your target

c) If you select Yes, in the previous row the information
will auto populate in the "Covered emissions in
base year EEHEFBZEMNHEME“ row with the

emissions data you disclosed in the Env Template #4
IE1EHR tab of the file. If you select No, you will have

to input this information manually

a)

17

R EAEF

R EAEF

Am m—

EHEEFINEEET Ny

Base Year [numerical] 2091
BEEE [#5F]

|s your base year the same year you

reported in the "Env Tab” of this file? [Yes ;£ / No ] Neo Ao

Covered emissions in base year

TEEFEFESNHINE

[numerical] [ ]

Please input yvour
base year
emissions here

\ 4

Base Year [numerical] 2021 T

BEiE [ =] E

|s vour base year the same year you

reported in the "Env Tab” of this file? [Yes ;g / No F] No &
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Intensity target — Base Year Ef4E

d) In the “Intensity Metric 38EEBZE " row you need to

f)
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manually input the units of the economic activity
you are comparing your emissions to in the target.
In this example we are writing “Revenue (USD)”

In the next row you will manually input the number
that corresponds to this business activity. For this
example, that we selected revenue, this hypothetic
company has an annual revenue of $20'000,000
USD so that is the number we input in that row

In the last row for base year, you need o divide the
"Covered emissions in base yearfEEfEFEEEHEK
£" divided by the "Business activity metric...” row,
and this will be our “Intensity figure in base year &
HEERRRESURE" (If you selected “Yes” in row 18 this

calculation will be done automatically)

BASE YEAR B

o ol B N SO o sl il I O O e i |

Covered emissions in base year i =

R EE OIS [numerical] (] 16.50
Intensity Metric [text -open field ]

EEEs IF Bl 1 3 % Rewvenue (USD]

Businness activity metric from your
base year (as stablished in the
denominator of the “Intensity Metric™
rowwl

[numerical]

[BF]

20,000.000.00;

Intensity figure in base year

BEFHEFERIE

[numerical] [#=F]

—

l=l{ & T = >3 m

ol
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Intensity target — Reporting year &£

3) The last data set we need to fill for our intensity target is the
Reporting year IRE&EE, the information you need to input in

these rows is similar to the information required for the Base
Year BELE rows. For this example:

a) The “Reporting Year IRE&E4E" 2022

b) We selected that “Yes & ", 2022 is the same year as the
information we reported on the Env Template &R tab
of the file

c) As we selected “Yes” in the previous row, our “Covered
emissions in base year T EHEFEENHEMEZE" will Aill

automatically

19

REPORTING YEAR 1B%5F

Reporting Year

[numerical]

— 2022
wEF [#F]
Is vour reporting yvear the same year
vou reported in the "Env Tab” of this [Yes:& / No F] Yes i&
file®
|
Emissions in reporting year . i
Calculated & 14.34 |
RS EBR NS [ ! |
Businness activity metric from your
reporting year (s stablished in the [numerical]
denominator of the “Intensity Metric”  |[#5F] e
row| L
Intensity figure in reporting year [Calculated 5] 0.000000652

REFEMNEERIE
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Intensity target — Reporting year IR&4E

d) We input manually our “Business activity metric from your
reporting year” in the same units as we did for our Base
year

e) As we selected “Yes” on row 24, our “Intensity figure in
reporting yeari RS EE N BB EHIE" wil be calculoted
automatically (If you selected “No” in row 24 this
calculation would be done manually)

4) Finally, all the information provided in the previous steps
must be answered on the specified section of the CDP
qguestionnaire as specified in column |

20

REPORTING YEAR 1R&55F

Reporting Year [numerical]
o 2022
wEE [#F]
Is your reporting year the same year
vou reported in the "Enwv Tab” of this [Yes i / No ] Yes i
file?
Mo E
Emissions in reporting yvear .
Calculated it& 14.34
EREEEENENE ' ]
Businness activity metric from your
reporting year (as stablished in the [numerical]
denominator of the “Intensity Metric”  |[#5F] e
rowyl
v
Intensity figure in reporting year [Calculated i &]] 0.000000452

REEERBEEIR

Location in the CDF gquestionnaire

CDPiEEd A=

(C4 . 1b) Provide details of your
emissions intensity target(s) and
progress made against those
target(s).

1 (C41b) BRELSNIINEER
RS L B iR HE R HFE -
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If you require support from Flex,
please send us an email to:

v Flex GPSC Sustainability (flex.gpsc@flex.com)
v Contact your GCM

flex



mailto:Flex.GPSC@flex.com

